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Properties of Parabolas

Identify the following.

1) X =-2y -4y + 70 41 X =2(y-3) -2

Ml ird bl s value:

firnd bl s walue:

Latus: Latus:

y-int: w-int:

H-int: H-int:

Yertex: Wertex:

Axis of Symmetry: Axis of Symmetry:
Jpens: Dpens:

7] y=2%x" -4%x -6 5] X =2y - 24y + 70
fl iy bl s walue: bl iy bl s walue:
Latus: Latus:
wy-irt: w-int:

H-int: H-int:

Yertex: Wertex:

Axis of Symmetry: Axis of Symmetry:
Jpens: Jpens:

3] y=-2(x-3) +2 6] ¥ =-2(x-86) + 2
ol i Pl s v alue: Ml i il s walue:
Latus: Latus:
wy-irt: w-int:

H-int: H-int:

Yertex: Wertex:

Axis of Symmetry: Axis of Symmetry:
Jpens: Jpens:
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